Don't use
‘ DB-Killer EVO N°52B

Co0d.308437801

Factory S Aluminium spacer
Stainless S. Cod. 205771

silencer @i 50
Cod.308437481

Knurled collar nut M§
Co0d.200333

Bracket Carbon FRZ
C0d.308448501

2 Knurled collar
nut M10
Cod.200607

Stainless steel bracket
Purch. Cod. 206393
Prod. Cod. 3014212501

Allen screw
M10X20
.C.ZB.

Aluminium spacer
D.e.27 xd.20

X 45 - hole 6.5
Co0d.206395

2 Short helical spring
tensile
C0d.303949001

Pipe N°1142
Cod.3014212201

Db-Killer 57
Cod.308078804

Aluminium spacer
-for allen screw M6-

Cod.205767
LGR/FD.026/0
Allen screw Bushing
Mé6X70 Cod.204999
1.C.Z.B.
Cod.206114

2 Allen screw M5X12
T.B.E.I.Z.B.
Cod.201031 ey

Carbon cover
Cod.0814212001

2 Mounting
2 Plain washer 5x15 plate M5
Co0d.406580 Cod.204555
DT-14212S 4 Gasket 14x4.9x1.5 Strap-in stainless @45
Co0d.200371 Cod.300045530
KYMCO AK550

SLIP-ON - Factory S - STAINLESS STEEL



	Foglio1
	Vista del disegno1
	Vista del disegno2
	Vista del disegno3


